NYS COMMON CORE MATHEMATICS CURRICULUM . lesson 18 Exit Ticket

Name Date

1. Solve the subtraction problems below.

a. 381mL - 146 mL b. 730m - 426m c. 509 kg -~ 384 kg
;;',M /g;l
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2. The total length of a banner is 408 centimeters. Carly paints it in 3 sections. The first 2 sections she
paints are 187 centimeters long altogether How long is the third section?
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NYS COMMON CORE MATHEMATICS CURRICULUM

Name

1. Solve the subtraction problems below.

70L - 46L b. 370L - 461L
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- 32cm

d. 607 cm e. 592 cm - 258 cm
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i, 572km - 266 km
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Decompose once to subtract measurements including three-digit
minuends with zeros In the tens or ones place.

Lesson 18 Homework

Date

c. 370L — 1461L

f. 918cm - 553 cm

n
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NHYS COMMQNCORE MAi*HémA'racs CURRICULUM ~ lesson 18 Homework

2. A magazine weighs 280 grams less than a newspaper. The weight of the newspaper is shown below. How
much does the magazine weigh? Use a tape diagram to model your thinking.

T he
gt
3. The chart to the right shows how long 3 games take. Lucas’
Baseball Game 180 minutes
a. Francesca's basketball game is 22 minutes shorter than , ¢
Lucas’ baseball game. How long is Francesca’s basketball loey’s )
Football Game 139 minutes
game?
Francesca's
Basketball Game minutes

..
]

b. How much longer is Francesca’s basketball game than Joey’s football game?
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NYS COMMON CORE MATHEMATICS CURRICULUM

Name

 Lesson 19 Exit Ticket

Date

1. Solve the subtraction problems below.

a. 346m j— 187 m

B

[ 57 na
i

5
59 m

b. 700 k%? 592 kg

Y

2. Asheep weighs about 647 kilograms less than a cow. A cow weighs about 725 kilograms. About how

much does a sheep weigh?

77 /j

77/?%
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NYS COMMON CORE MATHEMATICS CURRICULUM

lesson 19 Homework

Date

Name

1. Solve the subtraction problems below.

a.

¢. 423cm - 136cm

7,713

% 2 ﬁ e

g. 4L710mL - 2L 690 mL
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b. 450g - 284 ¢

h. 8L 830mL - 4L 378 mL
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Decompose twice to subtract measurements including three-digit engag_e ny 2.£.23

minuends with zeros in the tens and ones places.
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NYS COMMON CORE MATHEMATICS c;uamcu;;umv .  lesson 19 Homework

2. The total weight of a giraffe and her calf is 904 kilog{;ms. How much does the calf weigh? Use a tape
diagram to model your thinking. '

e

-

&
?

2

Giraffe
829 kg
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, o
3. The Erie Canal runs 584 kilometers from Albany to Buffalo. Salvador travels on the canal from Albany. He
must travel 396 kilometers more before he reaches Buffalo. How many kilometers has he traveled so far?

4. Mr. Nguyen fills two inflatable pools. The kiddie pool holds 185 liters of water. The larger pool holds 600

liters of water. How much more water does the larger pool hold than the kiddie pool?
iy

S

e |
ol Fis more liyels.
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_NYS$ COMMON CORE MATHEMATICS CURRICULUM

E

~ Lesson 20 Sprint

A # Correct
Round to the nearest hundred.
1 201 = )@Q 23|  350=
2|  301= 24| 1350 ~
3| 401= 25| 450 =
4| 801= 26| 5450~ |
5| 1801= 27| 850 =
6| 2801= 28| 6850 =
7| 3801= 29|  649=
8| 7801= 30| 651=
9| 200= 31| 691=
10| 390 =~ 32|  791=
1] 490 = 33| 891=
12|  890= 34| 991 =
13| 1890 = 35| 995=
14| 2890 = 36| 998 =
15| 3890 = 37| 9998 =
16| 7890 = 38| 7049 =
17|  512= 39| 4051 =
18| 2512= 40| 8350 ~
19| 423 = 41| 3572 =
20| 3423 = 42| 9754 =
21|  677= 43| 2915 =
22| 4677 = |44 9996 ~
© Bill Davidson
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NYS COMMONkCORE:MATH’EMAT'lCS' CURRICULUM

'5 Lesson Zﬁgmmt ‘;

B Improvement # Correct
Round to the nearest hundred.
1] 101= 23|  250= 00
2 201 = 24| 1250 = [ 300
3|  301= 25| 350 = e
4 701 = 26| 5350~
5 1701 = 27| 750 =
6| 2701= 28| 6750 =
71 3701= 20| 649~
8| 8701= 30| 652=
9 190 = 31| 692~
10| 290= 32| 792=
11| 390= 33| 892~
12| 790~ 34| 992~
13| 1790 = 35| 996~
14| 2790 = 36| 999~
15| 3790 = 37| 9999 =
16| 8790 = 38| 4049 =
17| 412= 39| 2051=
18|  2412= 2.4H0 40| 7350 =
19| 523= SHEO 41| 4572~
20| 3523 = 4 = 42| 8754 =
21| 877= 43|  3915=
22| 4877 = 44| 9997 =
© Bill Davidson
I EUMON [ g et engage™
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NYS COMMON CORE MATHEMATICS CURRICULUM Lesson 20 Exit Ticket

Name Date

1. Kathy buys a total of 416 grams of frozen yogurt for herself and a friend. She buys 1 large cup and 1 small
cup.

Large Cup 363 grams

Small Cup ? grams

¢. How many grams are actuaIIy in a small cup of yogurt?

3%/

j“ 3 / frams

d. s your answer reasonable? Which estlmate was closer to the exact weight? Explain why.

Mx) é‘«‘? # %«,J
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COMMON ’ Lesson 20: Estimate differences by rounding and apply to solve measurement en a e 1]
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'f'N'vs ‘CQMMON‘CC)R’E’MATH;EMAT!ES"CURRICULUZM‘k"' . Le}gg@h 20 Homework

Name Date

Estimate, and then solve each problem.

1. Melissa and her mom go on a road trip. They drive 87 kilometers before lunch. They drive 59 kilometers
after lunch.

a. Estimate how many more kilometers they drive before lunch than after by rounding to the nearest 10
kilometers. ' ’

SRR

s 74
c. Compare your estimate from (a) to your answer from (b). s your answer reasonable? Write a
sentence to explain your thinking.

2. Amy measures ribbon. She measures a total of 393 centimeters of ribbon and cuts it into 2 pieces. The
first piece is 184 centimeters long. How long is the second piece of ribbon?

a. Estimate the length of the second piece of ribbon by rounding in two different ways.

b. Precisely how long is the second piece of ribbon? Explain why one estimate was closer.

3%”’
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NYS COMMON CORE MATHEMATICS CURRICULUM . ,Leﬁsan‘Z@ H@Mewmk

3. The weight of a chicken leg, steak, and ham are shown to
the right. The chicken and the steak together weigh 341
grams. How much does the ham weigh?

a. Estimate the weight of the ham by roundlng

Q Qs

4. Kate uses 506 liters of water each week to water plants. She uses 252 liters to water the plants in the
greenhouse. How much water does she use for the other plants?

a. Estimate how much water Kate uses for the other plants by rounding.

i COMMO N Lesson 20: Estimate differences by rounding and apply to solve measurement n
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NY5 COMMON CORE MIATHEMATICS CURRICULUM . . lesson 21 Exit Ticket

Name Date

Rogelio drinks water at every meal. At breakfast he drinks 237 milliliters. At lunch he drinks 300 milliliters.
At dinner he drinks 177 milliliters.

a. Estimate the total amount of water Rogelio drinks. Then find the actual amount of water he drinks at

all 3 meals.
B 2%3Tml & 240mL 250 2371
- O
L OOl 0N ets e
D V1T mLE 180 o @L == TRl

ek

b. Estimate how much more water Rogelio drinks at lunch than at dinner. Then find how much more
water Rogelio drinks at lunch than at dinner.

(. 300mL = 300 el
D (1Tl a 180 mb

3060 200

- \¥%0 gL
| 20 M |22 ml

eshimeie ohuod

I% COM MON Lesson 21; £stimate sums and differences of measurements by rounding, and engage n
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NYS COMMON CORE MATHEMATICS CURRICULUM Lesson 21 Homework

3. The Blue Team runs a relay. The chart shows the time

in minutes that each team member spent running. Blue Team Time in Minutes
a. How many minutes does it take the Blue Team to run Jen 5 minutes
the relay? Kristin 7 minutes
. . Lester 6 minutes
5+ 1r+3 = 2l min
Evy 8 minutes
Total 2l min

b. It takes the Red Team 37 minutes to run the relay. Estimate, and then find
the difference in time between the 2 teams.

Red - Blue= difecence. 27
A = Qo = | L. e Fuod — 26

. y (.
Ny - 3O = 10 . eshirnode.
4. The lengths of 3 banners are shown to the right. Banner A 437 cm
a. Estimate, and then find the total length of Banner A and Banner C.
A= 13 em A%CE‘; 4’6%’&«' Banner B 457 cm
(¢, = dd>2Lem U1+ 352~ T4 Cw Banner C 332 cm L}gﬁ

, . \ FO5L
O+ 330 = TTOemeshHmale 509

b. Estimate, and then find the difference in length between Banner B and the total length of Banner A
and Banner C. Model the problem with a tape diagram.

Ho1 '
(A+C) =B = em

eshmode.
170 - H4L0= 3llm

M///(%Dm‘
g COM MON Lesson 21: Estimate sums and differences of measurements by rounding, and it
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NYS cdmmom CORE MATHEMATICS QURS‘<1¢ULUM . . lesson 21 Homework

Name Date

1. There are 153 milliliters of juice in 1 carton. A 3-pack of juice boxes contains a total of 459 milliliters.
a. Estimate, and then find the total amount of juice in 1 carton and a 3-pack of juice boxes.
, L b0
153 mL + 459mL~ (50 + Ho = bl0 -1 B0
b i

(ot O [ 53

¢ 2} 59

ot

153 mL + 459 mL = _{p]2- o1z

b. Estimate, and then find the difference between the amount in 1 carton and a 3-pack of juice boxes.

459 mL - 153 mL = %O/f)'fso 310w HLO
W/ 2 50 1_!, 6Oi

310 153

459 mL - 153 mL= _30Lom] K

20 6

c.  Are your answers reasonable? Why?
yes - My are Close o +he
estimate.s
2. Mr. Williams owns gas stations. He sells 367 liters of gas in the morning, 300 liters of gas in the
afternoon, and 219 liters of gas in the evening.

a. Estimate, and then find the total amount of gas he sells in one day. 3’7@ 3(07
M 3LTa 370 4 27D + 300+ QZO%&@Q 300 2300
A 2004 200 +220 + 219

P R

E 21%4 210 3l +300+ 219 _Ele /@T YR

b. Estimate, and then find the difference between the amount of gas Mr, Williams sells in the morning
and the amount he sells in the evening.

MOCa ngm eNen 0q = dibference.

— 219 = |4%Y 3l
310 371 - -9

20 L)g g;}.
e pm St 3 B (D
1 80 370 ~2.2.0 = 150 eshimake.
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